é @ GRIAAd & U= Pt 0T
M

- fedis: @R
8.1 x20% = 1.82 x70% =
4.41 x 50% = 3.02 x 90% =
4.76 x 50% = 5.06 x70% =
4.59 x 40% = 1.53 x30% =
0.76 x 90% = 2.9 x20% =
5.66 x 40% = 8.69 x 30% =
8.04 x 40% = 5.23 x70% =
3.63 x 80% = 5.36 x90% =
8.79 x 20% = 6.76 x 20% =
4.84 x 50% = 3.8 x50% =
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-H: feicp: THR:

8.1 x20% = 1.62

4.41 x 50% = 2.205

4.76 x 50% = 2.38

4.59 x40% = 1.836

0.76 x 90% = 0.684

5.66 x 40% = 2.264

8.04 x40% = 3.216

3.63 x 80% = 2.904

8.79 x 20% = 1.758

4.84 x 50% = 2.42

1.82 x70% = 1.274

3.02 x90% = 2.718

5.06 x70% = 3.542

1.53 x 30% = 0.459

2.9 x20% = 0.58

8.69 x 30% = 2.607

5.23 x70% = 3.661

5.36 x90% = 4.824

6.76 x 20% = 1.352

3.8x50% =19
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